Chemistry 3311 Exam #2 Dr. Pacheco
Organic | o 15 June, 2004

{4 points each) 1. Name the following compounds. Be sure to use cis, trans, E, or 7 designations if
appropriate.
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(6 points) 2. Label each of the functional groups shown in the following molecule.




{10 points) 3. Which of the following will react faster under the given conditions, reactant A or BY Why? Give
the major product for each reaction. (Be sure 10 show stereochemistry. )
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f& points) 4. OF the following compounds with similar molecular weights, which has the highest boiling point?
Why? Which has the lowest boiling point? Why?
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(12 poims) 5. What is the major product of the following reaction? What is the mechanism for the following
reaction? Be sure to show the stereochemistry of the product,
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(4 points) 6. Why are the more substituted alkenes more stable than the less substituted alkenes of similar
molecular wcight.‘? Hov. does this compare to relative heats of cnrmbusuan"’
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(6 points) 7. Show the wransition state and product for the following reaction.
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(3 points each) 8. Fill in the missing reactants or major products for the following reactions. Be sure 10
include sterenchemistry or regioselectivity when appropriate.
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(10 paints) 9, What is the product of the reaction shown? Draw the potential energy diagram for the given
reaction — label all axes of the diagram.
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